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a8 =y % =1 =1 =1 B =1 % a8

2 E3 H 185,829 2,753 15 141 188 227 556 2,197 1.2 12,900
I ERBEE RN 3,964 9 0.2 1 0 0 1 8 0.2 36
wmEEHRBE N 12,072 62 0.5 1 6 3 10 52 04 424
EREBEHRBEEN 23,057 346 15 24 24 32 80 266 1.2 1,606
EREMHRBEE N 30,520 301 1.0 21 26 37 84 217 0.7 1,299
ERERBE RN 5,808 21 04 2 2 4 8 13 0.2 233
2o EEMBEN 19,707 301 15 14 13 25 52 249 1.3 1,191
KR ERBERN 41,021 937 23 45 81 47 173 764 1.9 4,827
L EBEHRBE N 18,603 320 1.7 16 11 33 60 260 14 1,011
SREHRBEN 10,640 167 16 6 10 24 40 127 1.2 959
EFEREHRBEN 11,455 152 1.3 2 9 14 25 127 1.1 692
EAEHRBABENRN 8,787 137 16 9 6 8 23 114 13 622
HREEREBEFAEN 195 0 0.0 0 0 0 0 0 0.0 0




